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B INA 109011A3 R0% 956 95.6 10 91 1
B INA 10901142 BROFS 837 93 9 95 2
B INA 10901136 =10 1195 91.92 13 88 3
B 10901239 BRO 17 1036 9418 11 85 1
B 10901225 5RO5 554 9233 6 905 2
1B 10901212 =074 1002 91.09 11 895 3
liife 10901317 10} 1016 92.36 11 88 1
liife 10901352 F0O1= 1092 91 12 91 2
liife 10901334 ZO&f 1086  90.5 12 91 3
EIYA 10902145 EA[OF= 1059  96.27 11 95 1
=PIA 10802131 EOFE 1048  95.27 11 925 2
EIYA 10902133 MO 473 94.6 5 90 3
PIC 10902319 EOF 1454  96.93 15 92 1
#=PIC 10902349 AlO3% 1250 96.15 13 925 2
PIC 10902325 =0R 1440 96 15 90 3
HIUA 10922116 =0& 556  92.67 6 89.5 1
HIUA 10922101 5ROk 926 92.6 10 93 2
HIUA 10922107 FROHH 819 91 9 85 3
HPUB 10922211 EROHH 380 95 4 89 1
HPUB 10922254 #=OE 1015 92.27 11 89 2
HPUB 10822244 BROE 828 92 9 89 3




